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Extra Practice 6

	Lesson 8.6: Identifying Transformations in Tessellations

1.
Here are three patterns.
Describe the transformations that can be used to create each pattern.
Start with the shaded shape.
a)
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b)
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c)
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2.
Use this shape and transformations to create a tessellation on square dot paper.
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Describe the tessellation in terms of transformations and conservation of area.


3.
Here is a tessellation of a composite shape.
Describe the composite shape.
Describe the tessellation in terms of transformations and conservation of area.
Describe the tessellation in as many ways as you can.
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Extra Practice 6 – Master 8.31

Lesson 8.6 

1.
a) For example, label the rectangles to the right of the 
shaded rectangle from A to G.

The shaded rectangle is translated 1 unit right to get Rectangle A. Rectangle A is rotated 90° counterclockwise about the upper right vertex of Rectangle A to get Rectangle B. Rectangle B is 
reflected in the side shared by rectangles B and C to get Rectangle C. Rectangle C is rotated 90° clockwise about the lower right vertex of Rectangle C to get Rectangle D. Rectangle D is translated 1 unit right to get Rectangle E. Use similar transformations to complete the pattern.

b) Label the triangle to the right of the shaded triangle with the letter A, then continue to label with letters, moving in a clockwise direction. For example, the shaded triangle is rotated 180° about the midpoint of the side shared by the shaded triangle and Triangle A to get Triangle A. Triangle A is rotated 180° about the midpoint of the side shared by Triangles A and B to get Triangle B. 


Triangle B is rotated 180° about the midpoint of the side shared by Triangles B and C to get Triangle C. Triangle C is rotated 180° about the midpoint of the side shared by Triangles C and D to get Triangle D. The row of triangles is reflected in a horizontal line that passes through the base of Triangles A and C to complete the pattern.

c) The shaded shape is rotated 90°, 180°, and 270° clockwise about the upper right vertex of the shaded shape to complete the pattern.

2.
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Shape A is rotated 90° counterclockwise about the vertex shared by Shapes A, B, C, and D to get Shape D. Shape D is reflected in a vertical line passing through the vertex shared by Shapes A, B, C, and D, then translated 3 units up to get Shape B. Shape A is reflected in a vertical line passing through the vertex shared by Shapes A, B, C, and D, then translated 3 units down to get Shape C.
Under a transformation, a shape and its image are congruent. So, area is conserved.

3.
The composite shape is a regular octagon and a square put together.
Answers may vary.
For example, students may use translations to describe the entire tessellation. However, there are many other transformations and combinations of transformations that can be used.
Under a transformation, a shape and its image are congruent. So, area is conserved.

Master 8.31








The right to reproduce or modify this page is restricted to purchasing schools. 
This page may have been modified from its original. Copyright © 2008 Pearson Education Canada

